restart;

dp:=(p.)->int(p*a,x=-1..1);

(p,q)ﬂf p qdx 1)
-1
nm:=p->sqrt(dp(p,p));
p—+ dp(p, p) (2)
tv0:=1;
1 (3)
vO:=tvO/nm(tv0);
%ﬁ (4)
tvl:=x-dp(x,v0)*vO;
X (5)
vi:=tvl/nm(tv1l);
> X6 (6)
tv2:=x"2-dp(x*2,v0)*v0-dp(x"2,v1)*v];
2 1
_ 1 7
X @)
v2:=tv2/nm(tv2);
3 (x2 - l) J10 (8)
4 3
tv3:=x"3-dp(x*3,v0)*v0-dp(x*3,v1)*vi-dp(x"*3,v2)*v2;
3 3
_ 2 9
X - X 9
v3:=tv3/nm(tv3);
O
int(vli*vl,x=-1..1);
1 (11)
solve(v3=0,x);
0, %\/15, -%\/15 (12)
tv4d:=x"4-dp(x*4,v0)*v0-dp(x"4,v1)*v1-dp(x"4,v2)*v2-dp(x"4,v3)*v3;
4, 3 6X2
=2 _9 13
XNt oe s (13)
vd:=tv4/nm(tv4);
105 (4, 3 6 2
—= — - = 2 14
16 (X+35 7X)J— -

plot(v4,x=-1..1);






